Addition

Name: Add numbers up to 10 to humbers up to 100.
Working MathematicCally
88 + 7 =
1) Sk toys sold 56 large teddy
- Ce) b d8 Il . H
87 + 6 = -%- ears and 8 sma or!es ow
many teddy bears did they
0
71 + B = sell altogether?
76 + 4 = 2) Sk Toys - Car Sales
Blue cars : 67 sold
27 + D =
Red cars : 5 sold
11 + B = How many cars were sold
altogether?
83 + 2 =
) terhol
40 + 1 = m warernole
34 + 5 = — ||| How many steps did the elephant take
to reach the waterhole?
46 + 10 =
65 - 4) Year 3 Awards
+ — S
Gold awards : 9
36 + 10 = Silver awards : 78
Bronze awards : 26
74 + 1 = How many gold and silver awards
were presented?
6S + 9 =
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